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1. bl iz'u&i= esa 150 iz'u gSaA iz'u la[;k 1 ls 50 rd ds iz'u Hkk"kk ijh{k.k ¼fgUnh vFkok vaxszth½ ls lEcfU/kr gSaA ijh{kkFkhZ

dks fgUnh vFkok vaxzsth Hkk"kk ds iz'uksa dks gy djuk gSaA iz'u la[;k 51 ls 100 lkekU; Kku rFkk rkfdZdrk ls lEcfU/kr gSa

tcfd iz'u la[;k 101 ls 150 rd f'k{k.k&vfHk{kerk ls lEcfU/kr gSaA iz'u la[;k 51 ls 150 rd lHkh ijh{kk fFkZ;ksa ds fy,

vfuok;Z gSaA izR;sd iz'u ,d vad dk gSA

2. mÙkj i=d iw.kZr% vks-,e-vkj- ij vk/kkfjr gS] ftls dEI;wVj LdSuj ds ek/;e ls lalkf/kr fd;k tk,xkA viw.kZ vFkok xyr

rjhds ls Hkjk x;k mÙkj i=d vekU; gksxk rFkk bldk mÙkjnkf;Ro iw.kZr;k vH;FkhZ dk gksxkA

3. vks-,e-vkj- mÙkj i=d esa viuk vuqØekad ¼vaxzsth vadksa esa½] isij dksM] viuk oxZ ¼dyk] foKku vFkok okf.kT;½] iz'u iqfLrdk

dksM rFkk gLrk{kj lko/kkuhiwoZd Hkjsa o fy[ksa] vU;Fkk dEI;wVj LdSuj lgh ewY;kadu ugha dj ik;sxkA vk s-,e-vkj- mÙkj i=d

dh xyfr;ksa dk iw.kZ mÙkjnkf;Ro vH;FkhZ dk gksxkA

4. vius mÙkj vafdr djus ds fy, A fdlh Hkh n'kk esa nwljh iz'u iqfLrdk

vFkok mÙkj i=d ugha fn;k tk;sxkA

5. ijh{kk d{k NksM+us ls igys mÙkj i=d dh nks izfr;k¡ d{k fujh{kd dks ykSVk;sa vU;Fkk vkidk vH;FkZu fujLr dj fn;k tk;sxkA

6. vkidks vyx ls miyC/k djk;h tk jgh vks-,e-vkj- 'khV rhu izfr;ksa esa dkcZu foghu gSA vki rhljh izfr dks fudkydj vius

lkFk ys tk;sa rkfd vki fo'ofo|ky; }kjk fo'ofo|ky; osclkbZV esa izdkf'kr dqath ls vius mÙkjksa dk feyku dj ldsaA izFke

izfr LdSu dh tk;sxh rFkk f}rh; izfr fo'ofo|ky; fjdkMZ gsrq j[kh tk;sxhA

7. izR;sd iz'u esa fn;s x;s pkj fodYiksa esa ls lgh fodYi pqudj mÙkj pkVZ esa mlh iz'u la[;k ds lkeus cus pkj xksyksa esa ls mfpr

xksys dks vks-,e-vkj- 'khV esa iwjk Hkj nsaA

8. mÙkj vafdr djus ds fy, xksyk Hkjus dk mfpr rjhdk fuEuor gS %

xyr rjhdk lgh rjhdk

9. mÙkj esa Qsjcny fd;k tkuk oftZr gSA ,d iz'u ds fy, ,d ls vf/kd mÙkj vafdr djus ij vkidk mÙkj xyr ekuk tk;sxkA

izR;sd iz'u dk dsoy ,d gh mÙkj vafdr fd;k tkuk gSA

ENGLISH VERSION OF THE INSTRUCTIONS IS PRINTED ON THE LAST PAGE
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fgUnh Hkk"kk ds fuEu iz'uksa esa pkj fodYi

mÙkj ds :i esa fn, x, gSa] dksbZ ,d fodYi ml iz'u

dk lgh mÙkj gSA dì;k lgh fodYi dk p;u dhft,A

1. ^^Hkhrj&Hkhrj lc jl pwlSA

g¡fl&g¡fl dS ru&eu&/ku ewlSA**

fdl dfo dh dkO; iafDr;k¡ gSa \

(A) ckyd"̀.k HkV~V

(B) jk/kkd"̀.k nkl

(C) izrkiukjk;.k feJ

(D) HkkjrsUnq gfj'pUnz

2. [kM+h cksyh dk izFke egkdkO; gS %

(A) lkdsr

(B) LoxhZ; oh.kk

(C) Hkkjr Hkkjrh

(D) fiz; izokl
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3. ^bfroÙ̀kkRedrk* fdl ;qx dh izeq[k fo'ks"krk

gS \

(A) Nk;kokn ;qx

(B) f}osnh ;qx

(C) HkkjrsUnq ;qx

(D) izxfrokn ;qx

4. Jh t;'kadj izlkn dr̀ ̂dkek;uh* esa dqy fdrus

lxZ gSa \

(A) 12 lxZ

(B) 15 lxZ

(C) 17 lxZ

(D) 19 lxZ

5. Jh lqfe=kuUnu iUr dks fdl dkO; d`fr ij

^KkuihB* iq#Ldkj fn;k x;k \

(A) fpnEcjk

(B) iYyo

(C) xqatu

(D) oh.kk

SET-A
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6. ^gkykokn* ds izorZd ekus tkrs gSa \

(A) Hkxorh pj.k oekZ

(B) eSfFkyh'kj.k xqIr

(C) gfjoa'k jk; cPpu

(D) ek[ku yky prqosZnh

7. ^iq"i dh vfHkyk"kk* fdl dfo dh dfork gS %

(A) fl;kjke'kj.k xqIr

(B) Hkxorhpj.k oekZ

(C) jke/kkjh flag fnudj

(D) ek[ku yky prqosZnh

8. izfl) dfork&

^^'okuksa dks feyrk nw/k oL=] Hkw[ks ckyd vdqykrs gSa

ek¡ dh gM~Mh ls fpid fBBqj tkM+ksa dh jkr

fcrkrs gSaA**

ds jfp;rk dfo dk uke gS %

(A) jke/kkjh flag fnudj

(B) Hkxorhpj.k oekZ

(C) ek[ku yky prqosZnh

(D) jkes'oj 'kqDy ^vapy*

9. ^^izxfr'khy ys[kd la?k** dh izFke v/;{krk fdl

egkuqHkko us dh \

(A) eaq'kh izsepUn

(B) jfoUnzukFk Bkdqj

(C) t;'kadj izlkn

(D) gfjoa'k jk; cPpu

10. ukxktqZu dks fdl dkO;df̀r ds fy, ^vdkneh

lkfgR; iq#Ldkj* iznku fd;k x;k Fkk \

(A) jke ds izfr

(B) Qwy ugha jax cksyrs gSa

(C) i=ghu uXu xkN

(D) fp=k

11. ^rkjlIrd* esa dqy fdrus dfo;ksa dh jpuk,¡

ladfyr gSa %

(A) lkr

(B) ukS

(C) X;kjg

(D) rsjg
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12. ^^ijh{kk xq#** miU;kl ds ys[kd dk uke \

(A) ia- xkSjh nÙk

(B) fd'kksjh yky xksLokeh

(C) ykyk Jhfuokl nkl

(D) o`ankou yky oekZ

13. miU;kl ̂ ^fuLlgk; fgUnw** ds jpukdkj dk uke

D;k gS \

(A) jked"̀.k nkl

(B) jk/kkd"̀.k nkl

(C) fo".kq izHkkdj

(D) eqa'kh izsepUn

14. eqa'kh izsepUn dh fdl dgkuh ds izeq[k ik=ksa ds

uke ^^?khlw** ,oa ^^ek/ko** gSa %

(A) cw<+h dkdh

(B) 'krjat ds f[kykM+h

(C) gkj dh thr

(D) dQ+u

15. dgkuh ^^xq.Mk** ds ys[kd dk uke D;k gS \

(A) t;'kadj izlkn

(B) eqa'kh izsepUn

(C) Hkxorh pj.k oekZ

(D) egknsoh oekZ

16. ^^viuk&viuk twrk** ukVd ds ys[kd dkSu gSa \

(A) y{ehdkUr oekZ

(B) 'kEHkwukFk flag

(C) òankou yky oekZ

(D) egknsoh oekZ

17. ^rktegy ds vk¡lw*] ^ukVd cgqjaxh* ,dkadh ds

ys[kd dk uke gS %

(A) MkW- jkedqekj oekZ

(B) /keZohj Hkkjrh

(C) fo".kq izHkkdj

(D) y{eh ukjk;.k yky
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18. ^^f'ko'kEHkw ds fpV~Bs** ds ys[kd gSa \

(A) ckyd"̀.k HkV~V

(B) ckyeqdqUn xqIr

(C) xksiky izlkn O;kl

(D) ckcw ';kelqUnj nkl

19. fucU/k ^Bsys ij fgeky;* ds ys[kd dkSu gSa \

(A) nsosUnz lR;kFkhZ

(B) gfj'kadj ijlkbZ

(C) /keZohj Hkkjrh

(D) Jhyky 'kqDy

20. ^^ekDlZoknh vkykspd** ugha gSa] fuEu esa ml

lkfgR;dkj dk uke NkafV, %

(A) f'konku flag pkSgku

(B) jkefoykl 'kekZ

(C) 'kkfUrfiz; f}osnh

(D) ukeoj flag

21. ^^vkokjk elhgk** esa fdldh thouh gS \

(A) 'kjrpUnz

(B) jkepUnz oekZ

(C) Lokeh lR;kuUn

(D) vèryky ukxj

22. ^^ØkfUriFk dk ifFkd** vkRedFkk ds ys[kd dk

uke gS %

(A) ckck iF̀oh flag ^vktkn*

(B) òankou yky oekZ

(C) vkfcn vyh

(D) lsB xksfoUn nkl

23. if=dk ̂ ^ik[kh* fdl LFkku ls izdkf'kr dh tkrh

gS \

(A) eqEcbZ

(B) iz;kxjkt

(C) uks,Mk

(D) fnYyh
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24. loZizFke nsoukxjh fyfi dk iz;ksx fd;k x;k Fkk %

(A) ikapoh&NBh 'krkCnh esa

(B) ukSoha&nloha 'krkCnh esa

(C) lkaroh&vkBoha 'krkCnh esa

(D) X;kgjoha&ckjgoha 'krkCnh esa

25. Hkkjrh; lafo/kku ds fdl vuqPNsn esa ;g dgk

x;k gS&^^la?k dh jktHkk"kk fgUnh gksxh** \

(A) vuq- 210

(B) vuq- 243

(C) vuq- 341

(D) vuq- 343

26. o"kZ 2021 esa fgUnh lkfgR; ds fy, fdl ys[kd

dks ^^lkfgR; vdkneh iq#Ldkj** iznku fd;k

x;k gS %

(A) n;k izdk'k flUgk

(B) fxfjtk dqekj ekFkqj

(C) losZ'oj n;ky lDlSuk

(D) jes'k pUnz 'kkg

27. ^^okD;a jlkReda dkO;e~** fdldk dFku gS \

(A) vkpk;Z fuEcdkpk;Z

(B) vkpk;Z pk.kD;

(C) vkpk;Z fo'oukFk

(D) vkpk;Z Hkjreqfu

28. ^^ukV~; 'kkL=** ds jfp;rk gS \

(A) Hkx̀q _f"k

(B) Hkjreqfu

(C) Jax _f"k

(D) Hkkstjkt

29. ^vuqdj.k* ,oa ^fojspu* fl)kar ds izorZd gSa \

(A) IysVks

(B) vjLrq

(C) fofy;e oqM oFkZ

(D) eSF;w vkuZYM
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30. uhps fn, x, fgUnh Hkk"kk ds ^^rkyO; O;atu**

NkafV, %

(A) p] N] t] >

(B) V] B] M] <

(C) r] Fk] n] /k

(D) i] Q] c] Hk

31. fuEu esa v?kks"k o.kZ dkSu lk gS %

(A) v

(B) l

(C) g

(D) t

32. fgUnh Hkk"kk esa fyax dh nf̀"V ls ^^ngh** 'kCn gS %

(A) iqfYyax

(B) L=hfyax

(C) uiaqldfyax

(D) buesa ls dksbZ ugha

33. ^^fdrkc** 'kCn fdl Hkk"kk dk 'kCn gS \

(A) vjch

(B) Qkjlh

(C) ySfVu

(D) phuh

34. fuEukafdr esa ^̂ ckny** dk i;kZ;okph 'kCn ugha gS %

(A) es?k

(B) tyn

(C) tyf/k

(D) okfj/kj

35. tks 'kCn ^^r#** dk i;kZ;okph 'kCn ugha gS] og

'kCn fuEu esa ls NkafV, %

(A) foVi

(B) rM+kx

(C) ikni

(D) nzqe

36. ^vokZphu* 'kCn dk foykse 'kCn fuEu esa ls NkafV, %

(A) ledkyhu

(B) izkphu

(C) vk/kqfud

(D) uwru
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37. uhps fn, x, 'kCnksa esa ls ^^og L=h ftldk ifr

ijns'k ls vkus okyk gks** ds fy, ,d 'kCn

NkafV, %

(A) vkxfeL;rifrdk

(B) vkxrifrdk

(C) izksf"krifrdk

(D) izoRL;rifrdk

38. uhps fn, x, 'kCnksa esa ls rRle 'kCn dk p;u

dhft, %

(A) lhax

(B) njlu

(C) fookg

(D) Nsn

39. ^^iou** esa dkSu lh lfU/k gS \

(A) ;.k

(B) xq.k

(C) nh?kZ

(D) v;kfn

40. uhps fn, x, 'kCnksa esa ls orZuh dh nf̀"V ls 'kq)

'kCn NkafV,¡ %

(A) vuqxzghr

(B) vuqx̀ghr

(C) vuqxzfgr

(D) vuqx̀fgr

41. fgUnh lkfgR; esa dky foHkktu ,oa mldk

ukedj.k dk iz;kl loZizFke fdlus fd;k \

(A) xklkZ n rklh

(B) tktZ fxz;lZu

(C) f'ko flag lsaxj

(D) gtkjh izlkn f}osnh

42. vkfndky dks ^vkfndky* uke fdl fo}ku us

fn;k \

(A) MkW- HkxhjFk feJ

(B) egkohj izlkn f}osnh

(C) gtkjh izlkn f}osnh

(D) fo'oukFk izlkn feJ
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43. fl)ksa dh Hkk"kk gS %

(A) l/kqDd.kh

(B) viHkza'k

(C) la/;k

(D) czt

44. ukFk lEiznk; dks ekuus okys ewyr% fdldh

mikluk djrs gSa \

(A) f'ko Hkxoku

(B) fo".kq Hkxoku

(C) ek¡ nqxkZ

(D) 'kwU;

45. fuEufyf[kr esa dkSu lqesfyr ugha gS \

(A) }Srokn&ek/okpk;Z

(B) }Srk}Srokn&jkekuqtkpk;Z

(C) v}Srokn&'kadjkpk;Z

(D) 'kq)k}Srokn&cYyHkkpk;Z

46. ehjkckbZ ds xq# dk uke D;k gS \

(A) jkekuUn th

(B) lUr jfonkl ;k jSnkl

(C) cYyHkkpk;Z th

(D) lUr rqdkjke

47. ^jkepfjr ekul* dk iz/kku jl gS \

(A) 'kkUr jl

(B) Ük̀axkj jl

(C) ohj jl

(D) jkSnz jl

48. fuEu esa ls dkSu ls jhfrdkyhu dfo ohj jl ds

fy, izfl) gS \

(A) Hkw"k.k

(B) fpUrkef.k

(C) efrjke

(D) nso

49. jhfrdky dks vyad`r dky fdl fo}ku us dgk

gS \

(A) feJ cU/kq

(B) gtkjh izlkn f}osnh

(C) jek'kadj 'kqDy ^jlky*

(D) egkohj izlkn f}osnh

50. fcgkjh fdl /kkjk ds dfo gSa \

(A) jhfr eqDr

(B) jhfr c)

(C) jhfr fl)

(D) LoNUn
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Direction (Q. No. 1 to 50) : Each question has four

alternatives out of these four alternative only one

alternative in correct answer. Select the correct one.

1. Select the correct sentence from these

sentences :

(A) A house divided against itselves cannot

stand

(B) A house divided against itself cannot

stand

(C) A house divided against it cannot stand

(D) None of the above

2. Select correct sentence from following

sentences :

(A) Both girls are bold but this is bolder than

that

(B) Both girls are bold but this is bolder than

those

(C) Both girls are bold but these are bolder

than those

(D) Both girls are bolder but these are bold

than those

[ B-1 ]
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3. Select the correct sentence from following

sentences :

(A) The roads of Rambagh are wider than

those of Shashtri Nagar

(B) The roads of Rambagh are wider than

Shastri Nagar

(C) The roads of Rambagh are wide than

Shastri Nagar

(D) The roads of Rambagh are wide than

those of Shashtri Nagar

4. Select the correct sentence from the

following  sentences :

(A) One must not be blind to his own defects

(B) One must not blind to his own defect

(C) One must not be blind to one’s own

defects

(D) One must not blind to one’s own defects
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5. Select the correct sentence from the

following sentences :

(A) Anyone can do this if he tries

(B) Anyone can does this if he try

(C) Anyone can do this if he try

(D) Anyone can do this if one’s tries

6. Select the correct sentence from the

following sentences :

(A) The man who they thought to be a

gentleman is a rogue

(B) The man whom they think be a

gentleman is a rogue

(C) The man who they thought be a

gentleman is a rogue

(D) The man whom they thought to be a

gentleman is a rogue

7. Select the correct sentence from the given

sentences :

(A) There is no man who knows these things

(B) There is no man which know these

things

(C) There is no man but knows these things

(D) There is no man who know these things

8. Select the correct sentence from the sentences

given below :

(A) The Director of Directorate of Higher

Education has given its consent to join

the college

(B) The Director of Directorate of Higher

Education has given his consent to join

the college

(C) The Directors of Directorate of Higher

Education has given it’s consent to join

the college

(D) The Director of Directorate of Higher

Education has give his consent to join

the college

9. Identify the correct sentence :

(A) As a teacher of English you are far better

than him

(B) As a teacher of English you are far better

than he

(C) As a teacher of English you are far better

then him

(D) As a teacher of English you are far better

then he
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10. Select the correct sentence from given

sentences :

(A) Both the sisters have not passed

(B) Both the sister’s have not passed

(C) Neither sister have passed

(D) Neither sister has passed

11. Select the correct sentence from the sentences

given below :

(A) Everyone agrees that the Ganga is the

holiest of all the rivers

(B) Everyone agrees that the Ganga is the

holiest of all other rivers

(C) Everyone agrees that the Ganga is holy

of all other rivers

(D) None of the above

12. Select the correct sentence from the sentences

given below :

(A) Some people have generously contributed

to the welfare fund but they wanted that

there names should not be published

(B) Some people have generously contributed

to the welfare fund but they wanted that

their names should not be published

(C) Some people has generously contributed

to the welfare fund but they wanted that

their names should not be published

(D) None of the above

13. Select the correct sentence from the sentences

given below :

(A) We were happy that the audience

responded well and gave all the speakers

a patiently listening

(B) We were happy that the audience

responded well and gave all the speakers

a patient listening

(C) We were happy that the audience

respond well and gave all the speakers

listening patiently

(D) None of the above

14. Select the correct sentence from the sentences

given below :

(A) He saw two men, the one was lame and

another was blind

(B) He saw two man, the one was lame and

other was blind

(C) He saw two man, the one was lame and

another blind

(D) He saw two men, the one was lame and

the other was blind
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15. Select the correct sentence from the sentences

given below :

(A) If Rani had worked hard she will have

got the job she desired

(B) If Rani had worked hard she would have

got the job she desired

(C) If Rani has worked hard she would have

got the job she desired

(D) None of the above

16. Select the correct sentence from the sentences

given below :

(A) As I am suffering from fever since

morning, I shall not be able to attend the

college duties today

(B) As I have been suffering from fever

since morning. I shall not be able to

attend the college duties today

(C) As I am suffering from fever from

morning. I will not be able to attend the

college duties today

(D) None of the above

17. Select the correct sentence from the sentences

given below :

(A) Mohini appealed to the managing

committee that she might be allowed to

join the college

(B) Mohini appealed to the managing

committee that she may be allowed to

join the college

(C) Mohini appealed to the managing

committee that she be allowed to join

the college

(D) None of the above

18. Select the correct sentence from the sentences

given below :

(A) As soon as the principal entered the

school all the students approached him

and report the matter.

(B) As soon as the principal entered in the

school all the students approached him

and report the matter

(C) As soon as the principal entered the

school all the students approached him

and had reported the matter

(D) None of the above
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19. Select the correct sentence from the sentences

given below :

(A) He asked me whether I knew who had

stolen my book

(B) He asked the whether I know who had

stolen his book

(C) He asked me whether I know who had

stolen my book

(D) He asked me whether I know who stolen

his book

20. Select the correct sentence from the sentences

given below :

(A) The lawyer asked me where had I left

my clothes before taking a dip in holy

river Ganga

(B) The lawyer asked me where I had left

my clothes before taking a dip in holy

river Ganga

(C) The lawyer asks me where has I leave

my clothes before taking a dip in holy

river Ganga

(D) None of the above

21. Select the correct sentence from the sentences

given below :

(A) I advised him to work sincerely if you

wanted to succeed

(B) I advice him to work sencerely if he

wanted to success

(C) I adviced him to work sincerely if you

wanted to success

(D) I advised him to work sincerely if he

wanted to succeed

22. Select the correct sentence from the sentences

given below :

(A) It believed that Manohar Babu was very

rich in the town.

(B) It believed that Manohar Babu is very

rich in the town.

(C) It was believed that Manohar Babu is

very rich in the town.

(D) It was believed that Manohar Babu was

very rich in the town
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23. Select the correct sentence from the sentences

given below :

(A) The work on project could not take up

as the State Government did not provide

fund

(B) The work on the project could not be

taken up as the State Government did

not provide fund

(C) The work on the project was not take

up as the State Government did not

provide fund

(D) None of the above

24. Select the correct sentence from the sentences

given below :

(A) While going through the report yesterday

I found several factual mistakes

(B) While going through the report yesterday

I founded several factual mistakes.

(C) While going through the report yesterday

I had find several factual mistakes

(D) While going through the report yesterday

I had founded several factual mistake

25. Select the correct sentence from the sentences

given below :

(A) He laid unconscious for an hour untill

he was seen by a doctor

(B) He was laid unconscious for a hour until

he was seen by a doctor

(C) He lay unconscious for an hour until he

was seen by a doctor

(D) He layed unconscious for an hour until

he was seen by a doctor

26. Select the correct sentence from the sentences

given below :

(A) Monika read the message but she cannot

understand it

(B) Monika read the message but she could

not understand it

(C) Monika read the message but she can

not understood it

(D) Monika read the message but she was

not understood it
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27. Select the corrrect sentence from the

sentences given below :

(A) If a developing country is to become a

developed country it will attract foreign

investors

(B) If a developing country is to become a

developed country it has to attract

foreign investors

(C) If a developing country will become a

developed country it has to attract

foreign investors

(D) None of the above

28. Select the correct sentence from the sentences

given below :

(A) Your scooter would not have given you

so much trouble if you had maintained

it properly

(B) Your scooter would not have been give

you so much trouble if you had maintain

it properly

(C) Your scooter would not have given you

so much trouble if you had maintain it

proper

(D) None of the above

29. Select the correct one :

(A) Parth has been writing that essay for two

hours but he still has not finished

(B) Parth have been writing that essay for

two hours but he still have not finished

(C) Parth has been writing that essay for two

hours but he has not finished yet

(D) Parth has been writing that essay for two

hours but still has not finished yet

30. Select the correct sentence from the sentences

given below :

(A) The meeting scheduled to be held

between 2 P.M. and 3 P.M. was

postponed suddenly

(B) The meeting scheduled to held between

2 P.M. and 3 P.M. is postponed suddenly

(C) The meeting scheduled to be held

between 2 P.M. to 3 P.M. was postponed

suddenly

(D) None of the above
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31. Select the correct sentence from the sentences

given below :

(A) Thank you for your invitation for lunch

which I am very pleased to accept

(B) Thank you for your invitation to lunch

which I am very pleased to accept

(C) Thank you for your inviting for Lunch

which I was very pleased to accept

(D) None of the above

32. Select the correct sentence :

(A) Ghanshyam had gone away after I

reached there

(B) Ghanshyam had gone away before I

reached there

(C) Ghanshyam has gone away after I was

reached there

(D) Ghanshyam has gone away before I

reached there

33. Select the correct sentence from the sentences

given below :

(A) Hearing the noise my daughter woke

up

(B) Heard the noise my daughter woke up

(C) Hearing the noise my daughter wake

up

(D) Heard the noise my daughter wake up

34. Select the correct sentence from the sentences

given below :

(A) Having tying one end of the rope to his bed,

he threw the other end out of the window

(B) Having tied one end of the rope to his bed,

he throw the other end out of the window

(C) Having tied one end of the rope to his bed,

he threw the other end out of the window

(D) None of the above
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35. Select synonyms of the word “Blasphemous”

from the words given below :

(A) Betray

(B) Irreligious

(C) Borrow

(D) Invasion

36. Select synonyms of the word “Flourish” from

the words given below :

(A) Develop

(B) Dearth

(C) Fragile

(D) Depreciate

37. Select antyonyms of the word “Capacious”

from the words given below :

(A) Naughty

(B) Nuisance

(C) Noble

(D) Narrow

38. Select antonyms of the word “Zenith” from

the words given below :

(A) Vertex

(B) Climax

(C) Bottom

(D) Optimum

39. Choose the correct spelt word from the words

given below :

(A) Spritual

(B) Spirituale

(C) Spiritual

(D) Spiritul

40. Choose the correct spelt word from the words

given below :

(A) Lackadaisical

(B) Lackaidisical

(C) Lackadisicole

(D) Lackadisicle
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41. The Abstract Noun of the word “Modest” is :

(A) Modesti

(B) Modesty

(C) Modest

(D) Morality

42. Complete the sentence

“Succeed is to success as advise is to ........”

(A) Advice

(B) Advised

(C) Adviced

(D) Advose

43. Select the Adjective form of the noun “Wood”

from following :

(A) Woods

(B) Wooden

(C) Woody

(D) Woodes

44. Find out the error part of the following

sentence :

A stock of lectures  on this topic  will be fruitful

       (A)        (B)   (C)

to the students

         (D)

45. Select the correct sentence from the

following sentences :

(A) Several thesises were presented but none

were good

(B) Several theses were presented but none

were good

(C) Several thesis were presented but none

were good

(D) Several thesis was presented but none

was good

46. Select the plural form of the sentence–“The

goose is swimming in the pond.” from

following sentences :

(A) The geese is swimming in the pond

(B) The geese are swimming in the pond

(C) The goose swimming in the pond

(D) The geese swimming in the pond
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47. Find the error part of the following sentence :

The Indian team  defeated  the Australian

          (A)                (B)                 (C)

by an inning

       (D)

48. Select the correct sentence from the

following sentences :

(A) Radha met a widow and helped him

(B) Radha met a widow and helped her

(C) Radha met a widower and helped her

(D) Radha met a widows and helped him

49. Select the correct sentence from the

following sentences :

(A) Mohan’s car is better than Sohan’s

(B) Mohan’s car is better than Sohan

(C) Mohan car is better than Sohan’s

(D) None of these

50. Find out the error part of the following

sentence :

Every teacher  is expected  to carry out

       (A)                 (B)              (C)

his principal orders

       (D)



51. There are Monkeys and Pigeons in a zoo. If

the heads of both of them are counted, then

it is 90. But the legs are 220. What is the

number of Pigeons in zoo ?

(A) 64

(B) 66

(C) 68

(D) 70

52. In a code language ‘RAMA’ is written as

‘5898’ and ‘SITA’ is written as ‘7638’. Then

‘SIMA’ will be written as :

(A) 9876

(B) 7698

(C) 7689

(D) 9867

53. Fill in the blank :

9, 10, 12, 15, ......., 24

(A) 17

(B) 18

(C) 19

(D) 20

51. ,d fpfM+;k?kj esa dqN cUnj ,oa dcwrj gSaA ;fn

nksuksa ds flj fxurs gSa] rks ;g 90 gSA ijUrq iSjksa

dh la[;k 220 gSA fpfM+;k?kj esa dcwrjksa dh

la[;k D;k gS \

(A) 64

(B) 66

(C) 68

(D) 70

52. ladsr Hkk"kk esa ‘RAMA’ dks ‘5898’ fy[krs gSa

rFkk ‘SITA’ dks ‘7638’ fy[krs gSaA rc ‘SIMA’

dks fy[ksaxs %

(A) 9876

(B) 7698

(C) 7689

(D) 9867

53. fjDr LFkku dh iwfrZ djsa %

9, 10, 12, 15, ......., 24

(A) 17

(B) 18

(C) 19

(D) 20

General Knowledge And Reasoning Items
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54. Select from the following which does not

belongs to the group :

(A) Water

(B) Gasoline

(C) Wind

(D) Rock

55. If BAT = 69 and BOOK = 129, then PEN = ?

(A) 100

(B) 98

(C) 105

(D) 89

56. Swati ranks 15th in a class of 45 students. What

is her position in class from the bottom ?

(A) 30th

(B) 31st

(C) 32nd

(D) 33rd

54. fuEu esa ls ,d dk p;u djsa tks lewg ls esy

ugha [kkrk gS %

(A) ikuh

(B) xSlksyhu

(C) gok

(D) iRFkj

55. ;fn BAT = 69 vkSj BOOK = 129, then

PEN = ?

(A) 100

(B) 98

(C) 105

(D) 89

56. 45 fo|kfFkZ;ksa dh d{kk esa Lokfr dk 15oka LFkku

gSA d{kk esa uhps ls mldk D;k LFkku gS \

(A) 30oka

(B) 31oka

(C) 32oka

(D) 33oka
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57. In certain code language PHONE is coded

as QIPOF. How will the word EMAIL be

written in that code language ?

(A) FNBJM

(B) FNBJN

(C) FNJBM

(D) FNJBN

58. Pick out the odd one from the following :

(A) Lucknow

(B) Patna

(C) Bhopal

(D) Nainital

59. Ramesh walks 5 km in North direction and

then he turns left and goes 3 km. He again

turns left and goes 2 km. After that he turns

right and walks straight. In which direction

is he walking now ?

(A) East

(B) West

(C) North

(D) South

57. ,d fuf'pr dksM Hkk"kk esa PHONE dks QIPOF

fy[kk tkrk gSA EMAIL dks ml dksM Hkk"kk esa

dSls fy[ksaxs \

(A) FNBJM

(B) FNBJN

(C) FNJBM

(D) FNJBN

58. fuEu esa fo"ke dks pqfu, %

(A) y[kuÅ

(B) iVuk

(C) Hkksiky

(D) uSuhrky

59. jes'k mÙkj fn'kk esa 5 fdeh tkrk gS vkSj rc ck;sa

eqM+dj 3 fdeh tkrk gSA og iqu% ck;sa eqM+dj 2

fdeh tkrk gSA blds ckn og nk;sa eqM+rk gS vkSj

lh/kk pyrk gSA vc og fdl fn'kk esa py jgk

gS \

(A) iwoZ

(B) if'pe

(C) mÙkj

(D) nf{k.k
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60. Pick out odd one from the following :

(A) Oxford

(B) Cambridge

(C) Nalanda

(D) Ajanta

61. Some birds are sitting on two branches A and

B of a tree. If one bird flies from A to B

branch, the numbers of birds on both

branches will be equal. But, if a bird flies

from B to A branch, then number on A will

thrice that of B. How number of birds was

initially on branch A ?

(A) 3

(B) 4

(C) 5

(D) 7

62. If sign  and +, and numbers 2 and 4 are

interchanged, then which of the following is

correct ?

(A) 2 + 4  3 = 3.0

(B) 4 + 2  6 = 1.5

(C) 4  2 + 3 = 4.0

(D) 2 + 4  6 = 8.0

60. fuEu esa ls csesy dks pqfu, %

(A) vkDlQksMZ

(B) dSfEczt

(C) ukyank

(D) vtark

61. ,d isM+ dh nks 'kk[kkvksa A vkSj B ij dqN

fpfM+;k¡ cSBh gSA ;fn ,d fpfM+;k A ls B 'kk[kk

ij mM+dj tkrh gS rks nksuksa 'kk[kkvksa ij fpfM+;ksa

dh la[;k leku gks tkrh gSA ijUrq] ;fn ,d

fpfM+;k B ls A 'kk[kk ij mM+dj vk tkrh gS]

rc A ij B dh frxquh la[;k gks tkrh gSA izkjaHk

esa A 'kk[kk ij fpfM+;ksa dh la[;k fdruh Fkh \

(A) 3

(B) 4

(C) 5

(D) 7

62. ;fn fpUg  vkSj + rFkk la[;k 2 vkSj 4 dks

vkil esa cny nsa] rks fuEu esa dkSu lk lgh

gS \

(A) 2 + 4  3 = 3.0

(B) 4 + 2  6 = 1.5

(C) 4  2 + 3 = 4.0

(D) 2 + 4  6 = 8.0
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63. Fill in the blank space :

7, 8, 17, 42, 91, ........, 293, 462

(A) 172

(B) 182

(C) 208

(D) 192

64. Find out the pair which is different from

others :

(A) Pen and Pencil

(B) Cycle and Scooter

(C) Kurta and Tailor

(D) Tea and Coffee

65. If A = 2, B = 3, C = 4, D = 5 and so on, what

does the following number stand for

14, 2, 11, 16, 19

(A) M B K O R

(B) N A J O R

(C) M A J O R

(D) None of the above

63. fjDr LFkku dh iwfrZ djsa %

7, 8, 17, 42, 91, ........, 293, 462

(A) 172

(B) 182

(C) 208

(D) 192

64. nwljksa ls fHkUu tksM+s dks Kkr dhft, %

(A) dye vkSj isafly

(B) lkbZfdy vkSj LdwVj

(C) dqrkZ vkSj nthZ

(D) pk; vkSj dkQh

65. ;fn A = 2, B = 3, C = 4, D = 5 blh rjg ls gks

rks fuEufyf[kr la[;k,a D;k n'kkZrh gSa \

14, 2, 11, 16, 19

(A) M B K O R

(B) N A J O R

(C) M A J O R

(D) mijksDr esa dksbZ ugha
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66. Identify the letter which is the fifth letter to

the right of the letter which stands middle

between the letter J and P :

(A) Q

(B) R

(C) S

(D) O

67. A man walks 3 meters east and then 3 meter

south, followed by 3 meters east, 4 meters

north and 6 meters west. How long will he

walk and in what direction to reach his

starting point ?

(A) 1 meter in South

(B) 2 meter in North

(C) 2 meter in East

(D) 1 meter in West

68. Which of the following pairs is different from

others ?

(A) Bag and Vegetables

(B) Can and Petrol

(C) Bottle and Milk

(D) Ship and Boat

66. J vkSj P ds chp esa fLFkr e/;LFk v{kj ls nk;ha

vksj ds ikapos v{kj dks fpfUgr dhft, %

(A) Q

(B) R

(C) S

(D) O

67. ,d vkneh 3 ehVj iwoZ dh vksj vkSj blds ckn

3 ehVj nf{k.k dh vksj tkrk gS] rRi'pkr 3

ehVj iwoZ] 4 ehVj mÙkj vkSj 6 ehVj if'pe dh

vksj pyrk gSA vc mls viuh izkjafHkd fcanq ij

igq¡pkus ds fy, fdruh nwjh vkSj fdl fn'kk esa

pyu gksxk \

(A) 1 ehVj nf{k.k

(B) 2 ehVj mÙkj

(C) 2 ehVj iwoZ

(D) 1 ehVj if'pe

68. fuEu tksM+ksa esa dkSu vU;ksa ls fHkUu gS \

(A) FkSyk vkSj lCth

(B) crZu vkSj isVªksy

(C) 'kh'kh vkSj nw/k

(D) tgkt vkSj uko
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69. If the statement, “Most of the students are

disciplined” is taken as true. Then, carefully

read the four statements given below and

decide which one of the following pair of

statements can be claimed to be true ?

Statements :

1. All disciplined persons are student.

2. All students are disciplined.

3. Some students are disciplined.

4. Some students are not disciplined.

(A) 1 and 2

(B) 2 and 3

(C) 3 and 4

(D) 2 and 4

70. If letter A is used for 5, B for 6, C for 7, .....

and so on. Then, what will be meaning of

these following numbers ?

22, 19, 5, 8

(A) RODA

(B) ROAD

(C) DOAR

(D) RAOD

69. ;fn dFku ^^vf/kdka'k fo|kFkhZ vuq'kkflr gksrs

gSa** dks lR; eku fy;k tk;sA rks uhps fn;s x,

pkj dFkuksa dks /;ku ls i<+dj fuf'pr djsa

fd fuEu esa dkSu ,d dFkuksa dk tksM+k lgh

gS \

1. lHkh vuq'kkflr O;fDr fo|kFkhZ gSaA

2. lHkh fo|kFkhZ vuq'kkflr gSaA

3. dqN fo|kFkhZ vuq'kkflr gSaA

4. dqN fo|kFkhZ vuq'kkflr ugha gSaA

(A) 1 vkSj 2

(B) 2 vkSj 3

(C) 3 vkSj 4

(D) 2 vkSj 4

70. ;fn v{kj A ds fy, 5, B ds fy, 6, C ds fy,

7 iz;ksx gksrk gS vkSj blh rjg vkxs] rks fuEu

la[;kvksa dk D;k vFkZ gksxk %

22, 19, 5, 8

(A) RODA

(B) ROAD

(C) DOAR

(D) RAOD
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71. If 1st October is Saturday, then 1st November

will be :

(A) Saturday

(B) Sunday

(C) Monday

(D) Tuesday

72. A 25 feet tall pillar casts a shadow that is 5

feet long on the ground. If the pillar is 35

feet tall. Then, how many feet long would

the shadow be ?

(A) 6 feet

(B) 7 feet

(C) 7.5 feet

(D) 8 feet

73. Six persons A, B, C, D, E and F are standing

in a circle. ‘B’ is between ‘F’ and ‘C’. ‘A’ is

between ‘E’ and ‘D’. ‘F’ is just left of ‘D’.

Who is between ‘A’ and ‘F’ ?

(A) D

(B) C

(C) E

(D) B

71. ;fn ,d vDVwcj dks 'kfuokj gS] rks ,d uoEcj

dks gksxk %

(A) 'kfuokj

(B) jfookj

(C) lkseokj

(D) eaxyokj

72. ,d 25 QhV yEcs [kEcs dh Nk;k tehu ij

5 QhV iM+rh gSA ;fn [kEck 35 QhV yEck gS rks

Nk;k dh yEckbZ fdrus QhV gksxh \

(A) 6 QhV

(B) 7 QhV

(C) 7.5 QhV

(D) 8 QhV

73. N% O;fDr A, B, C, D, E vkSj F ,d òÙkkdkj

xksys esa [kM+s gSA ‘F’ vkSj ‘C’ ds chp esa ‘B’ gSA

‘E’ vkSj ‘D’ ds chp esa ‘A’ gSA ‘D’ ds rqjar ck;sa

rjQ ‘F’ gSA ‘A’ vkSj ‘F’ ds chp dkSu gS \

(A) D

(B) C

(C) E

(D) B
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74. Find ou tthe missing number in the following

series :

1, 3, 7, 13, 21, ...., 43

(A) 28

(B) 29

(C) 30

(D) 31

75. A jar has bacteria in it. The bacteria multiply

and double on each passing day. The jar fully

filled in 30 days. Then, in how many days

the jar will get half filled ?

(A) 15

(B) 29

(C) 25

(D) 10

76. Predict the growth rate for the year 2023 from

the data given below :

 Year :   2018  2019 2020 2021 2022 2023

 Growth Rate 1.5 1.7 2.1 2.9 4.5 ?

(A) 5.8

(B) 6.9

(C) 7.7

(D) 9.9

74. fuEukafdr Js.kh esa foyqIr la[;k dks Kkr

dhft, %

1, 3, 7, 13, 21, ...., 43

(A) 28

(B) 29

(C) 30

(D) 31

75. ,d tkj esa thok.kq gSaA thok.kq gj fnu f}xqf.kr

gks nksxqus gks tkrs gSaA tkj 30 fnu esa iwjk

Hkj tkrk gSA rc vk/kk tkj fdrus fnuksa esa

Hkjsxk \

(A) 15

(B) 29

(C) 25

(D) 10

76. uhps fn, x, vkad.kksa ds vk/kkj ij o"kZ 2023 ds

fodkl nj dh Hkfo";o.kh dhft, %

o"kZ :   2018  2019 2020 2021 2022 2023

fodkl nj % 1.5 1.7 2.1 2.9 4.5 ?

(A) 5.8

(B) 6.9

(C) 7.7

(D) 9.9
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77. If X, Y and Z are the sides of a triangle, then

which of the following is correct ?

(A) (X + Y) = Z

(B) (X + Y) > Z

(C) (X + Y) < Z

(D) (X + Y)  Z

78. Find odd one of the following :

(A) Sea Horse

(B) Dog Fish

(C) Elephant Fish

(D) Silver Fish

79. Which is the opposite of North-West ?

(A) East-West

(B) South-East

(C) North-East

(D) South-West

77. ;fn X, Y vkSj Z ,d f=Hkqt dh Hkqtk,a gSa] rks

fuEufyf[kr esa D;k lgh gS \

(A) (X + Y) = Z

(B) (X + Y) > Z

(C) (X + Y) < Z

(D) (X + Y)  Z

78. fuEukafdr esa fHkUu dks Kkr dhft, %

(A) lh fQ'k

(B) MkWx fQ'k

(C) ,fyQSaV fQ'k

(D) flYoj fQ'k

79. mÙkj&if'pe ds foijhr D;k gS \

(A) iwoZ&if'pe

(B) nf{k.k&iwoZ

(C) mÙkj&iwoZ

(D) nf{k.k&if'pe



[ B-1 ]32

SET-B

80. If 8514 stands for ‘HEAD’, then what will

251695 stand for ?

(A) BEAFIE

(B) DEAFIE

(C) BEAFFI

(D) DEAFFI

Direction : Question no. 81 to 85 are based on

following statements.

“Six members of a family A, B, C, D, E and F are

travelling together. B is the son of C, but C is not the

mother of B. A and C are married couple. E is brother

of C. D is daughter of A and F is the brother of B.”

81. How many male members are there in the

family ?

(A) 1

(B) 2

(C) 3

(D) 4

80. ;fn 8514 ds LFkku ij ‘HEAD’ gS] rks 251695

ds LFkku ij D;k gksxk \

(A) BEAFIE

(B) DEAFIE

(C) BEAFFI

(D) DEAFFI

A, B, C, D, E vkSj F ,d ifjokj ds N% lnL; ,d

lkFk ;k=k dj jgs gSaA B, C dk iq= gS] ysfdu C, B

dh ekrk ugha gSA A vkSj C ifr&ifRu gSaA E, C dk

HkkbZ gSA D, A dh iq=h gS rFkk F, B dk HkkbZ gSA

81. ifjokj esa fdrus iq#"k lnL; gSa \

(A) 1

(B) 2

(C) 3

(D) 4
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82. How many children are in family ?

(A) One

(B) Two

(C) Three

(D) Four

83. Who is wife of E ?

(A) D

(B) A

(C) F

(D) Can not say on the basis of given

information.

84. Which of the following is a pair of females ?

(A) B and D

(B) A and D

(C) A and E

(D) D and F

82. ifjokj esa fdrus cPps gSa \

(A) ,d

(B) nks

(C) rhu

(D) pkj

83. E dh iRuh dkSu gS \

(A) D

(B) A

(C) F

(D) nh xbZ lwpuk ds vk/kkj ij dqN ugha dg

ldrs gSa

84. fuEukafdr esa efgykvksa dk tksM+k dkSu lk gS \

(A) B vkSj D

(B) A vkSj D

(C) A vkSj E

(D) D vkSj F
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85. How is E related to D ?

(A) As uncle

(B) As father

(C) As brother

(D) Can not determined

86. Which number represents those secular

philosophers who are not leaders in the

following figure ?

(A) 1

(B) 2

(C) 3

(D) 4

87. Which number will come in blank space of

the figure ?

(A) 50

(B) 45

(C) 55

(D) 20

85. E fdl izdkj D ls lEcaf/kr gS \

(A) pkpk ds :i esa

(B) firk ds :i esa

(C) HkkbZ ds :i esa

(D) fu/kkZfjr ugha fd;k tk ldrk

86. dkSu lh la[;k mu iaFk&fujis{k nk'kZfudksa dk

izfrfuf/kRo djrh gS] tks usrk ugha gSa \

(A) 1

(B) 2

(C) 3

(D) 4

87. fp= esa fjDr LFkku ij dkSu lh la[;k

gksxh \

(A) 50

(B) 45

(C) 55

(D) 20
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88. Find the missing number in the following

figures :

(A) 16

(B) 35

(C) 45

(D) 25

89. Which number will come in place of question

mark :

(A) 6

(B) 7

(C) 8

(D) 9

88. fuEu fp= esa foyqIr la[;k Kkr dhft, %

(A) 16

(B) 35

(C) 45

(D) 25

89. iz'u fpUg ds LFkku ij dkSu lh la[;k vk;sxh \

(A) 6

(B) 7

(C) 8

(D) 9



[ B-1 ]36

SET-B

90. Pick up one figure from the answer figures

which completes the series of problem

figures :

Problem Figure

Answer Figure

(A) 1

(B) 2

(C) 3

(D) 4

91. Which does not goes with others ?

(A) Grape

(B) Mango

(C) Banana

(D) Orange

90. mÙkj fp= ls ,d fp= dk p;u djsa tks leL;k

fp= dks iw.kZ djs %

(A) 1

(B) 2

(C) 3

(D) 4

91. dkSu lk vU; ds lkFk ugha tkrk gS \

(A) vaxwj

(B) vke

(C) dsyk

(D) larjk
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92. A man has 31 flowers. He offers one flower

in first temple. In second temple he offers

flowers double that of in first. In third temple

double that of in second. So on, in how many

maximum temples he can offers flowers ?

(A) 7

(B) 6

(C) 5

(D) 4

93. If today is Wednesday, what will be the day

25 days after next Sunday ?

(A) Thursday

(B) Friday

(C) Saturday

(D) Sunday

92. ,d O;fDr ds ikl 31 iq"i gSaA og igys eafnj esa

,d iq"i p<+krk gSA nwljs eafnj esa igys ls

nksxquk p<+krk gSA rhljs eafnj esa nwljs ls nksxqukA

bl izdkj og fdrus vf/kdre eafnjksa esa iq"i

p<+k ldsxk \

(A) 7

(B) 6

(C) 5

(D) 4

93. ;fn vkt cq/kokj gS] rks vxys jfookj ds ckn

25osa fnu dkSu lk fnu gksxk \

(A) xq#okj

(B) 'kqØokj

(C) 'kfuokj

(D) jfookj
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94. The average age of 30 students is 12 years.

If the age of their teacher is also included,

then average age increases by one year. What

is the teacher’s age ?

(A) 33

(B) 43

(C) 53

(D) 63

95. 45 are 5 percent of which of the following ?

(A) 600

(B) 700

(C) 800

(D) 900

96. Choose the correct letter which is prefixed

to the following words, then they form new

words :

all, rack, rib, over

(A) C

(B) A

(C) D

(D) I

94. 30 fo|kfFkZ;ksa dh vkSlr vk;q 12 o"kZ gSA ;fn

muds ,d v/;kid dh vk;q Hkh lfEefyr dj

ys rks vkSlr vk;q ,d o"kZ c<+ tkrh gSA

v/;kid dh vk;q D;k gS \

(A) 33

(B) 43

(C) 53

(D) 63

95. fuEukafdr esa 45 fdldk 5 izfr'kr gSa \

(A) 600

(B) 700

(C) 800

(D) 900

96. ,d lgh v{kj dk pquko dhft, ftls fuEu

'kCnksa ds izkjaHk esa yxkrs gSa rks os u, 'kCn cukrs

gSa %

all, rack, rib, over

(A) C

(B) A

(C) D

(D) I
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97. If ‘OQNEDRRNQ’ is a code for

‘PROFESSOR’, then ‘SDZBGDQ’ is a code

for :

(A) TAECHAR

(B) TIECHER

(C) TEACHER

(D) None of the above

98. The good citizen is one who is :

(A) Politically and socially well informed

(B) Aware of his social obligation

(C) Well behaved

(D) Knowledgeable about the constitution

99. Gram is to kilogram, what millimeter is to :

(A) Decimeter

(B) Centimeter

(C) Kilometer

(D) Meter

97. ; fn ‘OQNEDRRNQ’ dk dk sM

‘PROFESSOR’ gS] rks ‘SDZBGDQ’ dk dksM

gS %

(A) TAECHAR

(B) TIECHER

(C) TEACHER

(D) mijksDr esa dksbZ ugha

98. ,d vPNk ukxfjd og gS tks fd %

(A) jktuSfrd vkSj lkekftd Kku j[krk gS

(B) vius lkekftd nkf;Ro ds izfr tkx:d gS

(C) f'k"V gS

(D) lafo/kku ds ckjs esa Kku j[krk gS

99. xzke ds fy, fdyksxzke] rks feyhehVj ds fy, %

(A) MslhehVj

(B) lsaVhehVj

(C) fdyksehVj

(D) ehVj
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100. If, 2 × 7 = 7, 8 + 6 = 7 and 28  2 = 7

then, 14 – 7 = ?

(A) 7

(B) 6

(C) 3.5

(D) 3

100. ;fn] 2 × 7 = 7, 8 + 6 = 7 vkSj 28  2 = 7

rc 14 – 7 = ?

(A) 7

(B) 6

(C) 3.5

(D) 3
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iz'u la[;k 101 ls 150 rd dqy ipkl ¼50½ iz'u

f'k{k.k vfHkof̀Ùk ls lEcfU/kr gSa] izR;sd iz'u ds mÙkj

ds :i esa pkj fodYi fn, x, gSa ftuesa ls dsoy

,d fodYi lgh mÙkj gSA mls NkafV, vkSj fpfUgr

dhft,A

101. d{kk esa f'k{kd }kjk iz'u iwNus dk mís';

gS %

(A) vuq'kklu cuk, j[kus gsrq

(B) viuh cqf)eÙkk fn[kkus gsrq

(C) fo|kfFkZ;ksa ds /;kukd"kZ.k gsrq

(D) mijksDr esa ls dksbZ ugha

102. izHkqRooknh f'k{k.k esa %

(A) dsoy Nk= lfØ; jgrs gSa

(B) dsoy f'k{kd lfØ; jgrk gS

(C) u Nk= ,oa u gh f'k{kd lfØ; jgrk gS

(D) mijksDr esa ls dksbZ ugha

There are total fifty (50) questions related to

teaching aptitude, from Question No. 101 to 150,

each has four responses/alternatives out of which

only one response is correct, select that and mark

accordingly.

101. The purpose to ask the question by a teacher

in the class is :

(A) To maintain discipline

(B) To show his own intelligence

(C) To seek the attention of students

(D) None of the above

102. In a autocratic teaching :

(A) Only students are active

(B) Only teacher is active

(C) Neither students nor teacher is active

(D) None of the above
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103. fuEu esa ls dkSu lk 'kCn f'k{k.k dh dyk o

foKku dks lUnfHkZr djrk gS \

(A) izkS<+&f'k{kk

(B) lekt foKku

(C) euksfoKku

(D) f'k{k.k 'kkL= ¼iSMkxkth½

104. fuEu esa ls dkSu ls 'kCn dk lokZf/kd O;kid vFkZ

gS %

(A) y{;

(B) mís';

(C) fof'k"V mís';

(D) vuqns'kukRed mís';

105. ,d izHkko'kkyh f'k{k.k&vf/kxe izfØ;k dk U;wure

lEcU/k gksuk pkfg, %

(A) jVus ls

(B) djds lh[kuk

(C) okn&fookn

(D) leL;k lek/kku

103. Which word of the following refers the

science and art of teaching ?

(A) Adult Education

(B) Sociology

(C) Psychology

(D) Pedagogy

104. Which word of the following has most

comprehensive meaning :

(A) Aims

(B) Objectives

(C) Specific objectives

(D) Instructional objectives

105. An effective Teaching-Learning process must

be least correlated with :

(A) Cramming

(B) Learning by doing

(C) Discussion

(D) Problem solving
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106. f'k{k.k&vfHk{kerk ls rkRi;Z gS %

(A) f'k{k.k ds izfr leiZ.k

(B) Nk=ksa dks Kku nsus dh rhoz bPNk

(C) f'k{k.k dh {kerk j[kuk

(D) mijksDr lHkh

107. ,d yksdrkaf=d f'k{k.k gS %

(A) v/;kid dsfUnzr

(B) Nk= dsfUnzr

(C) iz/kkukpk;Z dsfUnzr

(D) izcU/kd dsfUnzr

108. O;k[;ku dk iz;ksx ------------ dks miyC/k djkus

gsrq fd;k tk ldrk gSA

(A) rF;kRed lwpuk iznku djus gsrq

(B) mPp Lrj ij laf{kIr fooj.k nsus gsrq

(C) lS)kafrd :i ls O;k[;k djus gsrq

(D) mijksDr lHkh gsrq

106. The meaning of teaching aptitude is :

(A) Dedication towards teaching

(B) Deep desire to give knowledge to students

(C) To have capacity to teach

(D) All of the above

107. A democratic teaching is :

(A) Teacher-centred

(B) Student-centred

(C) Principal-centred

(D) Manager-centred

108. A Lecture can be used to provide :

(A) Factual Information

(B) Brief description at higher level

(C) To explain theoritically

(D) All of the above
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109. ';keiV~V ij fy[krs le; v/;kid dks fdl

ckr dk /;ku j[kuk pkfg, %

(A) mÙke ys[ku

(B) 'kCnksa dks Li"V cukuk

(C) Li"V fp= vkjs[ku

(D) mijksDr lHkh

110. ikB&f'k{k.k ds le; v/;kid dk /;ku fdl

ij gksuk pkfg, %

(A) fo|kFkhZ ij

(B) iz/kkukpk;Z ij

(C) Lo;a ij

(D) fo|ky; ds izcU/kd ij

111. f'k{k.k ds le; ikB esa Nk=ksa dh :fp cuk,

j[kus gsrq f'k{kd dks fuEu fØ;k djuh

pkfg, %

(A) vUr%fØ;k

(B) O;k[;ku fof/k

(C) ';keiV~V ij dsoy ys[ku

(D) ekSu jguk

109. At the time of writing on black board a

teacher must keep in his mind :

(A) Good writing

(B) Clear formation of words

(C) Sketching of clear picture

(D) All of the above

110. During lesson teaching a teacher must focus

on :

(A) Student

(B) Principal

(C) Himself

(D) Manager of School

111. To maintain the interest of students in the

topic, a teacher must do following activity

during his teaching :

(A) Interaction

(B) Lecture method

(C) Write on black board only

(D) Keep silence
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112. fuEu esa ls dkSu lk f'k{k.k nf̀"Vdks.k bl fo'okl

ij vk/kkfjr gS fd ^^f'k{kd og lc dqN tkurk

gS ftls f'k{kkFkhZ dks tkuus dh vko';drk gS %

(A) lajpukoknh@fuekZ.koknh n`f"Vdks.k

(B) f'k{kd dsfUnzr n`f"Vdks.k

(C) fo"k; dsfUnzr nf̀"Vdks.k

(D) f'k{kkFkhZ dsfUnzr nf̀"Vdks.k

113. d{kk esa ekuoh; okrkoj.k cukus ls vk'k; gS

fd %

(A) Nk=ks a ds lkFk ekuoh; lEcU/kk s a dh

LFkkiuk

(B) vf/kd x̀gdk;Z nsus ls

(C) jVus ij vf/kd cy nsus ls

(D) mijksDr esa ls dksbZ ugha

114. fuEu esa ls dkSu lk dkjd cPpksa esa nf̀"Vdks.k ds

fodkl dks izHkkfor ugha djrk %

(A) x̀g

(B) led{k O;fDr;ksa dk lewg

(C) jk"Vªh; laLFkku

(D) fo|ky;

112. Which teaching approach from the following

is based on the belief that “The teacher knows

everything that a learner is required to know” :

(A) Constructive Approach

(B) Teacher Centred Approach

(C) Subject Centred Approach

(D) Learner Centred Approach

113. The meaning of Humanitarian Environment

in class is that :

(A) To establish humanitarian relationship

with students

(B) To assign more homework

(C) More emphasis on cramming

(D) None of the above

114. Which of the following does not affect the

development of attitude among students :

(A) Home

(B) Peer Group

(C) National Institutions

(D) School

mailto:lajpukoknh@fuekZ.koknh
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115. ,d okLrfod f'k{kd og gS tks ------------

(A) lekt dh ck/;rkvksa ls eqDr gks

(B) ftlus f'k{kd&la?k dk fuekZ.k fd;k gks

(C) :f<+oknh gks

(D) mÙkjnk;h u gks

116. ;fn vkids f'k{k.k ds le; dksbZ Nk= vkids

iz'u dk mÙkj u ns ik, rks vki %

(A) mldk vieku djsaxs

(B) mls lgh mÙkj crk,axs

(C) ;g le>us dk iz;kl djsaxs fd og Nk=

lgh mÙkj nsus esa leFkZ D;ksa ugha Fkk

(D) Nk= dks vkSj vf/kd ifjJe ls v/;;u gsrq

lq>ko nksxs

117. vki f'k{k.k O;olk; dks ilUn djrs gSa D;ksafd %

(A) v/;kid dh mifLFkfr esa cPps 'kSrkuh ugha

djrs

(B) vkids ekrk&firk us vkidks crk;k gS fd

f'k{k.k ,d lEekfur O;olk; gS

(C) vki f'k{k.k esa :fp j[krs gSa

(D) buesa ls dksbZ ugha

115. A true teacher is who ...........

(A) Free from compulsions of the society

(B) Created teacher association

(C) is orthodox

(D) irresponsible

116. If a student is not able to answer a question

during your teaching, then you will :

(A) Insult him

(B) Tell him the correct answer

(C) Try to understand why that student was

not able to answer

(D) Advice the student to study hard

117. You like teaching profession because :

(A) In presence of a teacher children do not

remain naughty

(B) Your parents had told you that teaching

is a dignified profession

(C) You have an interest in teaching

(D) None of these
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118. d{kk f'k{k.k dks vkSj vf/kd izHkko'kkyh cukus dk

,d mik; gS %

(A) x̀gdk;Z vf/kd nsa

(B) d{kk f'k{k.k ds mijkar V~;wVksfj;y nsa

(C) d{kk esa i<+k, x, izdj.k ls lEcfU/kr iz'u

iwNsa

(D) mijksDr esa ls dksbZ ugha

119. f'k{kd ds fdl xq.k ls lkekU;r% Nk= izHkkfor

gks tkrs gSa \

(A) mlds varZeq[kh O;fDrRo ls

(B) mlds mPp uSfrd pfj= ls

(C) mlds iz/kkukpk;Z ds lkFk lEcU/kksa ls

(D) izcU/k lfefr ls mlds lEcU/kksa ls

120. fdlh fu"Bkoku f'k{kd dks izksRlkfgr djus dh

loksZÙke fof/k gS %

(A) mls iq#"dkj iznku dhft,

(B) mlds dk;Z dh fuUnk djds

(C) mlds osru dks jksduk

(D) le;&le; ij mlds dk;Z dh iz'kalk djuk

118. One of the measures of making class teaching

more effective is :

(A) Assign homework in excess

(B) Give tutorials after the class teaching

(C) Ask questions related to the topic taught

in class

(D) None of the above

119. By which characteristic of a teacher the

students are generally impressed ?

(A) His/her introvert personality

(B) His/her high moral character

(C) His/her relations with principal

(D) His/her relations with managing

committee

120. The best way to encourage a teacher who

works with complete dedication is to ........

(A) Give him/her a prize

(B) Condemn his/her work

(C) His/her salary withholding

(D) Praise his/her work from time to time
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121. ,d v/;kid gksus ds ukrs vki %

(A) dsoy ,d fof'k"V ckyd dh O;fDrxr

leL;k dks lqusaxs

(B) Nk=ksa dh leL;kvksa dks lqusaxs

(C) Nk=ksa dh leL;kvksa dks ugha lqusaxs

(D) Nk=ksa dks /kedk nsaxs

122. dqN Nk= pqipki gh fo|ky; ls Hkkx tkrs gSaA

,sls Nk=ksa ds O;ogkj dks jksdus ds fy, vki

djsaxs %

(A) oks Ldwy ls D;ksa Hkkx tkrs gSa blds dkj.k

dks tkuus dk iz;kl djsaxs

(B) mu Nk=ksa dks n.M nsaxs

(C) Hkfo"; esa fo|ky; esa vkus dh vuqefr ugha

nsaxs

(D) mijksDr esa ls dksbZ ugha

123. ,d mÙke v/;kid og gS tks %

(A) vius Nk=ksa dks usrR̀o iznku djrk gS

(B) Nk=ksa ds lok±xh.k fodkl esa :fp ysrk

gS

(C) vuq'kklu dk dBksjrk ls ikyu djrk gS

(D) mijksDr lHkh

121. Being a teacher, you would :

(A) Listen the personal problem of a

particular child only

(B) Listen the problems of students

(C) Never listen the problems of students

(D) Will threaten the students

122. Some students quietly run away from the

school. In order to check this behaviour of

those students, you would :

(A) Try to know the reason why do they run

away from the school

(B) Punish those students

(C) Will not permit to enter the school in

future

(D) None of the above

123. A superior teacher is one who :

(A) Gives leadership to his students

(B) Takes interest in the all around

development of students

(C) Strictly follows the discipline

(D) All of the above
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124. d{kk d{k esa vf/kd vuq'kklughurk izk;% rc

QSyrh gS tc %

(A) f'k{kd&f'k{kkFkhZ dk vuqikr mfpr ugha gS

(B) cPpksa dks O;Lr j[kus gsrq i;kZIr dk;Z ugha

gS

(C) f'k{kd d{kk d{k f'k{k.k dks i;kZIr :i ls

jkspd cukus esa vlQy gS

(D) mijksDr esa ls dksbZ ugha

125. ,d Nk= us vkils ,d iz'u iwNk vkSj

vki mldk mÙkj ugha tkurs rc vki D;k

djsaxs \

(A) vki ml Nk= dks Mk¡V nsaxs

(B) mlds iz'u dh mis{kk dj nsaxs

(C) mlesa dgsaxs fd mldk iz'u izlax ds ckgj

dk gS

(D) vki Nk= dks vk'oklu nsaxs fd ml iz'u

dk lgh mÙkj irk dj ds vxys fnu mls

crk,saxs

126. ,d f'k{kd dks vius Nk=ksa ds uke Kkr gksus

pkfg,] ftlesa %

(A) f'k{kd ds vius Nk=ksa ds lkFk lEcU/k lqn`<+

gks tk,axs

(B) Nk= mí.Mrkiw.kZ O;ogkj dh mis{kk djsaxs

(C) Nk= vuq'kkflr jgsaxs

(D) mijksDr lHkh

124. More indiscipline usually prevails in the

class-room if :

(A) The teacher taught ratio is not proper

(B) There is not enough work to keep

children busy

(C) The teacher is unable to make classroom

teaching interesting enough

(D) None of the above

125. If a student has asked you a question and you

don’t know the answer then what would you

do ?

(A) You will give scolding that student

(B) Ignore his question

(C) Tell him that his question is out-of-

context

(D) You will assure the student that you

would find the correct answer of that

question and will tell him about the same

on next day

126. A teacher must know the names of his

students, so that ........

(A) The relationship of the teacher with his

students will be consolidated

(B) Students will avoid mischievous behaviour

(C) Students will be disciplined

(D) All of the above
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127. f'k{kd dks le; ij fo|ky; igq¡puk pkfg,

ftlls %

(A) Nk= le;fu"Bk dk ikB lh[ksaxs

(B) Nk= viuk vkRefo'okl [kks ldrs gSa

(C) Nk= vius f'k{kd ij fo'okl ugha dj

ldrs

(D) mijksDr esa ls dksbZ ugha

128. fo|ky; dk fujh{k.k le;&le; ij fd;k tkuk

pkfg, D;ksafd %

(A) bl volj ij Nk=ksa ij /;ku ugha fn;k tkrk

(B) fo|ky; esa df̀=e okrkoj.k rS;kj fd;k

tkrk gS

(C) f'k{kdksa dks f'k{kk foHkkx ds ofj"B vf/kdkfj;ksa

ls fopkj&foe'kZ dk volj izkIr gks tkrk

gS

(D) mijksDr esa ls dksbZ ugha

129. cky&dsfUnzr f'k{k.k dk vFkZ gS %

(A) ckyd dh vko';drkvksa dk /;ku j[kuk

(B) tks ckyd pkgrk gS mls og djus fn;k

tk,

(C) ckyd dks [ksyus fn;k tk,

(D) izR;sd ckyd dks fu%'kqYd f'k{kk nh tk,

127. The teacher should reach school in time so

that :

(A) The students will learn the lesson of

punctuality

(B) The students may loose their confidence

(C) The students may not trust upon that

teacher

(D) None of the above

128. The inspection of school must be organized

time to time because :

(A) On this occasion attention is not given

on students

(B) An artificial atmosphere is created in the

school

(C) Teachers get an opportunity to have

discussions with senior officers of

education department

(D) None of the above

129. The meaning of child-centred teaching is :

(A) Taking care of needs of a child

(B) Let the child do whatever he wants to

do

(C) Let the child play

(D) Give free education to every child
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130. ;fn dksbZ Nk= d{kk d{k esa vHknz Hkk"kk dk iz;ksx

djrk gS rks ml Nk= ds bl O;ogkj dk lEHko

dkj.k gks ldrk gS -----------

(A) mlds ?kj ij ogh Hkk"kk iz;ksx dh tkrh gks

(B) mlds vM+ksl&iM+ksl esa ogh Hkk"kk iz;ksx dh

tkrh gks

(C) mÙkj “A” ,oa “B” nksuksa lgh gSa

(D) u rks mÙkj “A” vkSj u gh mÙkj “B” lgh gSa

131. ;fn ,d v/;kid fdlh Nk= dh HkRlZuk@fuUnk

d{kk esa djrk gS rks blds dkj.k %

(A) ml d{kk ds leLr Nk=x.k ml v/;kid

ds lkgl dh iz'kalk djsaxs

(B) iz'uxr Nk= viuk vieku ekusxk ,oa

grksRlkfgr gksxk

(C) f'k{kd dHkh Hkh Nk= dh HkRlZuk ;k iz'kalk

dj ldrk gS

(D) mijksDr esa ls dksbZ ugha

132. ;fn ,d Nk= fcuk izsl fd, gq, ,oa xans x.kos'k

dks igu dj d{kk esa vkrk gS rc vki %

(A) mls d{kk esa cSBus ugha nsaxs

(B) d{kk esa mldk migkl mM+k,axs

(C) mldh mis{kk djsaxs

(D) mls uezrk ds lkFk crk,axs fd d{kk esa fcuk

izsl ds ,oa xans x.kos'k dks igu dj vkuk

mÙke vknr ugha gS

130. If a student uses indecent language in the

class-room, then the possible reason for such

behaviour of that student may be as ..........

(A) The same language is used at his home

(B) The some language is used in his

neighbourhood

(C) Responses “A” and “B” both are correct

(D) Neither response “A” nor “B” is correct

131. If a teacher condemns any student in the class

then it may cause :

(A) All the students of that class will praise

the courage of that teacher

(B) The student in question will feel insulted

and discouraged

(C) The student may be praised or

condemned by teacher any time

(D) None of the above

132. If a student comes to the class wearing

unironed and dirty uniform then you will :

(A) Not let him sit in class

(B) Make fun of him in the class

(C) Ignore him

(D) Tell him politely that it is not good habit

to come the class in dirty and unironed

uniform
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133. mÙke vf/kxe gsrq d{kk dk okrkoj.k gksuk

pkfg, %

(A) yksdrkaf=d

(B) fujadq'k@,dra=oknh

(C) vf/kdkfjd

(D) mckÅ

134. ,d Nk= gsrq f'k{kd dh Hkwfedk gksuh pkfg, %

(A) fo'ks"k'k@lalk/ku O;fDr

(B) iFk&izn'kZd

(C) fe=

(D) mijksDr lHkh

135. d{kk d{k esa lewg xfrfof/k;ksa ds }kjk Nk=ksa esa

fuEu esa ls fdl fo'ks"krk dk fodkl fd;k tkrk

gS %

(A) usr̀Ro dh Hkkouk

(B) vuq'kklughurk

(C) vlg;ksx

(D) LokFkhZ

133. For better learning the environment of the

class must be :

(A) Democratic

(B) Autocratic

(C) Authoritative

(D) Boring

134. For a student the role of a teacher must be as

a :

(A) Resource-Person

(B) Mentor

(C) Friend

(D) All of the above

135. Which one of the following characteristics

is developed among students by organizing

group activities in classroom :

(A) The spirit of leadership

(B) Indiscipline

(C) Non-cooperation

(D) Selfish
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136. izkFkfed fo|ky;ksa esa ^^vkijs'ku CySdcksMZ** dk

lEcU/k gS %

(A) vk/kkjHkwr lqfo/kkvksa dks miyC/k djkus esa

(B) f'k{kk ds Lrjksa dks mBkus gsrq

(C) Nk=ksa dks e/;kUg Hkkstu miyC/k djkus ls

(D) f'k{kdksa ds izf'k{k.k ls

137. ;fn fdlh f'k{kd dk lapkj ;k lEizs"k.k dkS'ky

izHkkoghu gS rks fuEu esa ls dkSu lh leL;k

mRiUu gks ldrh gS %

(A) d{kk esa vuq'kklughurk

(B) d{kk esa Nk=ksa esa :fp esa deh

(C) vuqifLFkr Nk=ksa dh la[;k esa o`f)

(D) mijksDr lHkh

138. ,d v/;kid gksus ds ukrs D;k vki vius Nk=ksa

esa Hk; dk Hkko fufeZr djsaxs \

(A) gk¡] D;ksafd Hk; ds fcuk vuq'kklu lqfuf'pr

ugha fd;k tk ldrk

(B) gk¡] D;ksafd fcuk Hk; ds Nk= lh[k ugha

ldrs

(C) ugha] blls Nk=ksa esa jpukRedrk de gksxh

(D) ugha] D;ksafd vkids fo#) vijkf/kd okn

ntZ djk;k tk ldrk gS

136. In primary schools the operation black board

is related to :

(A) Supplying the basic facilities

(B) Raise the standards of education

(C) Give mid-day meal to students

(D) Training of teachers

137. If a teacher has ineffective skill of

communication then which of the following

problems may take place in classroom :

(A) Indiscipline in the class

(B) Decline interest among pupils in the

class

(C) Increase in the number of absentees

(D) All of the above

138. Being a teacher will you create a feeling of

fear among your students ?

(A) Yes, because discipline can’t be ensured

without fear

(B) Yes, because students can’t learn

without fear

(C) No this will decrease the creativity

among students

(D) No, because a criminal case may be

lodged against you
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139. vkids fo|ky; esa ,d okn&fookn izfr;ksfxrk

vk;ksftr dh tkus okyh gS ,oa mlesa vkids Nk=

Hkkx ysuk pkgrs gSa rks vki %

(A) mudk Hkk"kk fy[ksaxs

(B) muds Hkk"k.k cksydj fy[kok nsaxs

(C) muds Hkk"k.k dks rS;kj djus gsrq mUgsa ikB~;&

iqLrdsa o v/;;u lkexzh miyC/k djk nsaxs

(D) mijksDr esa ls dksbZ ugha

140. ge vius Nk=ksa esa Lovuq'kklu dSls fodflr

dj ldrs gSa %

(A) mUgsa dBksj vkpkj lafgrk esa j[k dj

(B) le;&le; ij mUgsa nf.Mr dj ds

(C) fo|ky; ds f'k{kdksa ds fo"k; esa lwpuk

miyC/k djk dj

(D) mUgsa mÙkjnkf;Roksa dks lkSaidj

141. ,d v/;kid ls U;wure lEcfU/kr y{k.k

gS %

(A) izHkko'kkyh lapkj dkS'ky

(B) ikB~;oLrq ij vkf/kiR;

(C) jktuhfrd :i ls lfØ;rk

(D) Nk=ksa ds lkFk mÙke vUr%fØ;k

139. If a debate competition is going to be

organized in your school and your students

want to participate then you will :

(A) Write their speech

(B) Dictate them their speeches

(C) Provide them some text books and study

material for preparing their speech

(D) None of the above

140. How can we inculcate the self discipline

among our students :

(A) By keeping them under strict code of

conduct

(B) By punishing them time to time

(C) By providing information to them

regarding the teachers of the school

(D) By giving them the responsibilities

141. The least connected characteristic with a

teacher is :

(A) Effective communication skill

(B) Mastery over the subject matter

(C) Politically active

(D) Good interaction with students
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142. The most important quality of a teacher is :

(A) Impatience

(B) Introvert Personality

(C) Arrogant

(D) Confident

143. What ever the child learns in his family and

community is known as :

(A) Formal Education

(B) Informal Education

(C) Structured Education

(D) School Education

144. The teacher must ask the questions :

(A) To whole class/All students

(B) To a particular student

(C) To front benchers only

(D) To back benchers only

142. ,d v/;kid dk vR;f/kd egRoiw.kZ xq.k gS %

(A) v/kfjrk

(B) vUrZeq[kh O;fDrRo

(C) vfHkekuh gksuk

(D) vkRefo'oklh gksuk

143. ,d ckyd tks dqN vius ifjokj esa ;k leqnk;

esa lh[krk gS] mls dgrs gSa %

(A) vkSipkfjd f'k{kk

(B) vukSipkfjd f'k{kk

(C) lajfpr f'k{kk

(D) fo|ky;h f'k{kk

144. ,d v/;kid dks iz'u iwNuk pkfg, %

(A) lEiw.kZ d{kk ls@lHkh Nk=ksa ls

(B) ,d fof'k"V Nk= ls

(C) dsoy vkxs cSBus okys Nk=ksa ls

(D) dsoy ihNs cSBus okys Nk=ksa ls
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145. Mal adjustment in children is :

(A) A result of motivation

(B) A result of frustration

(C) A result of hard working

(D) None of the above

146. Motivation is a :

(A) Natural state

(B) Physical state

(C) Psychological state

(D) None of the above

147. A teacher must have following attitude

towards weak students in classroom :

(A) Full of ignorance

(B) Harsh and autocratic

(C) Sympathetic and friendly

(D) None of the above

145. ckydksa esa vilek;kstu dh leL;k gksrh gS %

(A) vfHkizsj.k ds ifj.kke Lo:i

(B) HkXuk'kk ds ifj.kke Lo:i

(C) dBksj ifjJe ds ifj.kke Lo:i

(D) mijksDr esa ls dksbZ ugha

146. vfHkizsj.kk gS %

(A) izkdf̀rd voLFkk

(B) 'kkjhfjd voLFkk

(C) ekufld voLFkk

(D) mijksDr esa ls dksbZ ugha

147. d{kk esa detksj Nk=ksa ds izfr ,d v/;kid dk

nf̀"Vdks.k dSlk gksuk pkfg, %

(A) iw.kZr% vufHkKrk iw.kZ

(B) dBksj ,oa fujadq'krkoknh

(C) lgkuqHkwfr ,oa fe=rkiw.kZ

(D) mijksDr esa ls dksbZ ugha
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148. Which statement is not correct in relation to

teaching :

(A) There is a feeling in teaching that some

one learns something

(B) The characteristic of teaching is that

there is a relationship between teacher

and Taughter

(C) Teaching is an essential condition of

Education but not sufficient or complete

(D) Children learn compulsorily as a result

of teaching

149. An effective teaching includes :

(A) Only teacher is active

(B) Only students are active

(C) Both teacher and students are active

(D) None of the above

150. The benefit of assigning regular home work

to the students is :

(A) Formation of habit of self studies

(B) To inform the parents of students about

their studies

(C) To decrease the work load of teachers

(D) None of the above

148. v/;kiu ds fo"k; esa fuEufyf[kr esa ls dkSu lk

dFku lgh ugha gS %

(A) v/;kiu esa ;g Hkkouk fufgr gksrh gS fd

dksbZ dqN u dqN lh[krk gh gS

(B) v/;kiu dh ;g fo'ks"krk gS fd v/;kid

vkSj v/;srk ds e/; fo'ks"k lEcU/k gksrk

gS

(C) v/;kiu f'k{kk dh ,d vko';d 'krZ rks

gksrh gS ijUrq i;kZIr ;k iw.kZ ugha

(D) v/;kiu ds ifj.kke Lo:i cPps vfuok;Zr%

lh[krs gSa

149. ,d izHkko'kkyh f'k{k.k esa lfEefyr gksrk gS %

(A) dsoy f'k{kd fØ;k'khy gksrk gS

(B) dsoy Nk= fØ;k'khy gksrs gSa

(C) v/;kid ,oa Nk= nksuksa fØ;k'khy gksrs gSa

(D) mijksDr esa ls dksbZ ugha

150. fo|kfFkZ;ksa dks fu;fer :i ls xg̀ dk;Z nsus dk

ykHk D;k gS %

(A) Lok/;k; dh vknr Mkyuk

(B) fo|kfFkZ;ksa ds ekrk&firk dks muds v/;;u

ds fo"k; esa lwfpr djuk

(C) f'k{kdksa ds dk;Z ds cks> dks de djuk

(D) mijksDr esa ls dksbZ ugha
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